ST-296 RRB CLERK (PRE) 2020

Passage for Question 1, 2, 3, 4, 5 (ST-296 RRB CLERK PRE (1-5) 2020)
eng hin Passage

Study the following information carefully and answer the question given below.
In a certain code language

'you are very intelligent' is written as 'ji sa nara',

'they seem very intelligent' is written as 'la sa na pa’,

'how intelligent is she' is written as 'na za fu ka' and

“how can you say' is written as ‘pu li ra za'.

fRafafaa srasrd &1 samgd® aggga R TR fRroag g srsacd
T fAfera e wrar H

'you are very intelligent' T 'ji sa na ra', % &9 & for@T sirar 81

'they seem very intelligent' T 'la sa na pa', % &9 # for@T SITaT %’I

'how intelligent is she' FT 'na za fu ka' % &7 & foraT SITaT 21

‘how can you say' & ‘pu li ra za' 3 &9 & for@T srar %"I

Q-1

eng hin

What is the code for 'you'?
'you' FT FIE FT §?

01. ra 02. Jd
03. na 04 pu

05. None of these
TAH T ATE Tol

Solution for Question 1

Q-2

eng hin

Word/ Substituted
== Word afaerfaa
I
You ra
Intelligent na
Very sa
Are Ji
They/seem la/pa
How za
Shelis fu/ka
Can/say pu/li

Which of the following is the code for 'she seem intelligent'?

U U Fire arr STTHTY 'she seem intelligent' T TS FATE?

01. fukapa 02. palana

03. fukana 04. Can't be determined
IBEESEERERIS I EN]

05. None of these

TAH A IS T
Solution for Question 2
Word/ Substituted
= Word sfaenfag
T
You ra
Intelligent na
Very sa
Are Ji
They/seem la/pa
How za
Shelis fulka
Can/say pu/li

Ans Key: 1

Ans Key: 4



Q-3

eng hin

eng hin

What is the code for 'fu' according to the given code language?

3T 1T e WO ¥ SET fu' FT FIE FAT 82

01. she 02. is
03. Either she or is 04. how
IT qT she a7 is
05. None of these
TAH A TEl
Solution for Question 3
Word/ Substituted
e Word wfaerntia
M=
You ra
Intelligent na
Very sa
Are Ji
They/seem la/pa
How za
Shelis fu/ka
Can/say pu/li

What is the code for 'they are too intelligent' according to the given code language?

%Tf Rlney FIe ATIT F STHETY "they are too intelligent' =T FIe FAT 22

01. jiminasa 02. pajinami

03. minalaji 04. Either 2 or 3
T AT 2’ 4T3

05. None of these
TH AT AR

Solution for Question 4

Q-5

eng hin

eng hin

Word/ Substituted
= Word wiaera
M=
You ra
Intelligent na
Very sa
Aie Ji
They/seem la/pa
How za
Shefis fuka
Can/say pu/li

What is the code for 'say' according to the given code language?

3T T e 9T ¥ SATE 'say' FT HIE FAT 82

01. py 02. Eitherpuor li
ATAT pu ATk
03. i 04. 2
05. ra
Solution for Question 5
Word/ Substituted
T Word wiaeiaT
o=
ey S

Ans Key: 3

Ans Key: 4

Ans Key: 2



Intelligent na
Very sa
Are Ji

They/seem la/pa
How za

Shelis fu/ka
Can/say pu/li

Passage for Question 6, 7, 8, 9, 10 (ST-296 RRB CLERK MAINS R (6-10) 2020)
eng hin Passage

Study the following information carefully and answer the question given below.

A,B,C,D,E, F, G, Hand I are sitting around a circular table two of them are not facing the centre.
F is fourth to the left of A who is third to the right of B. D is third to the left of I. C is third to the right of H. E is second to the right of G who is not neighbour of I. A
does not face towards the centre.

frafafag STasrd £ 1 sqmga T steggT F A= RuarrarFrswac

A,B,C,D,E, F, G, H 3T I U 7T H9T 3 AT SN IS § ITH T &I h o0l AT Aol o @ Bl
F, A 970 =T T4 9T ¢, ST B % I AT A6 #1992 g1 D, 13 970 d16e #2419 92 g1 C, H % 70 3Y |y &9 9 21 E, G % 370 AT gaL e a7 g
ST 1T OSTET T8l 5| AFTHE %3 & AT 75l 2

Q-6 Who is third to the right of E?
E % &T4 S0 i 22

01. A 02. D
03. B 04. G
05. None of these / TH o FTE Tl
Solution for Question 6 Ans Key: 3

—

E / f
/
F

—~
)]

Q-7 ‘Who among the following is fourth to the right of G?
enghin  FEfIEa & & 7 G ¥ 212 T =Atam 22

01. C 02. |
03. A 04. D
05. None of these
TAH IS T
Solution for Question 7 Ans Key: 1

eng hin A

G /,__..\ — D

\'u
——H

E //\/‘ :’V\B
F
G



Q-8 ‘Who among the following is immediate to the right of I?

eng hin  FoforfEd # ¥ &9 1% 97 210 82

01. F 02. E
03. C 04. H
05. None of these
o 1 AT
Solution for Question 8
eng hin A
o \ —~_ D
—< >
x_‘ B
F
G
Q9 Four of the following are alike in a certain way and hence form a group. Which is the one that does not belong to that group?
hin e & & =37 v [ftm 8% T vF 59 2 o AT uE 99g a9 E) 98 R 97 8 S 39 99§ g6t a6 82

01. D,C

03. HD

05. EJI
Solution for Question 9

A
M~

4
..I‘j

-1

Q-10 What is the position of D with respect to G?
G ¥ sy % D T fearfay Fam 22

01. Fourth to the right
T AT =T
03. Third to the right
FrfY T e
05. None of these
TAH T FTE AR1
Solution for Question 10
eng hin A

c f\ —_ D
< <

——H

E {\/\ >\B

02. BF
04. AG

02. Third to the left
AT AT e

04. Cannot be determined

Fratfa w2t frar ST Fear

Ans Key: 2

Ans Key: 4

Ans Key: 2

eng hin Passage

Passage for Question 11, 12, 13, 14, 15 (ST-296 RRB CLERK MAINS R (11-15) 2020)

Study the following information carefully and answer the question given below.
Seven professors H, I, J, K, L, M and N teach different subjects, viz History, Geography, Hindi, Psychology, Zoology, Botany and English, but not necessarily in
the same order. All professors go to college on three different days of the week, viz Monday, Thursday and Friday.

K is a professor of Botany and he does not go to college on Friday. The one who is a professor of Zoology goes to college on Thursday. H goes to college on
Monday only with L and he is a professor of History. I and J do not go to college on the same day. Those professors who go to college on Monday are not the




professors of Hindi. M teaches Psychology but does not go to college on Thursday. N goes to college on the same day as M. J is a professor of Geography.

et T F1amydF Aegga #L A A= fRrarrr T
AT STHEE H, 1, 1, K, L, M 3T N SfenT-3ren (e, sfagm, e, 24, aefesm, s, aaeafa B e silsht gz 8, sifte sredt 7t freeft

FH H g THT TR TATE & A STT-3eNT a1, HIHETE, [EATE 3T FHATT T FHiers S gl

K, a9t fasTe &7 ST § 3T a8 STFaTE &l oSt dei STal gl a8 ST S[ATS(T 7 TTHEY & AT 1 Hierst ST gl H Fae L% 91 JHar w wids
STTAT & 37 a8 TfAeTE 7 WHEw g1 10T J U 2 I Fierst T8t 1 81 98 TR ST A1 1 hids o1 8, (T F TrHae 781 81 M, A= qgrar
&, ST T[T AT it qgt SITaT gl N I & Fierst SIrar & St M ST g J Gt 7 AT &l

Q-11

eng hin

‘Who among the following is a professor of Zoology?

FReferfaa & & 1 SEistt 7 TrHae g2

01. 1 02. N

03. L 04. M

05. None of these

TAH HAE Aol
Solution for Question 11
Professor/amr Day/fe=r Subject/fawTr

H Monday® =~ History/zfa=Tm
\ Thursday/ === Zoology/ S[TsT
J Friday/stw=Te Geography/’ﬂ'ﬂ"ﬁf
K Thursday/T==% | Botany/a=eafe s
L Monday/Ar =TT English/=rsft
M Friday/spF | Psychology/@Ttarsm
N Friday/sp=re HindiffZ=t

Q-12

Which of the following combinations is true?

Rreferiad @ & F19 &7 409 qat &2

01. L — Thursday — English 02. N — Friday — Hindi

L - =4 ¥ - 3 N - FATT -
03. M — Friday — Hindi 04. K — Thursday — Geography
M - g@ar - B K- ¥ - e
05. None of these
T | IS Tl
Soiution for Question 12
eng hin Professor/arhae Day/few Subject/fawTr
H Monday= =T History/zfa=ma
I Thursday/AT==me Zoology/ ettt
J Friday/spr=me Geography/TTe
K Thursday/T==e | Botany/aweTia e
L Monday/TraaT English/errstT
M Friday/spwame Psychology/a=farsma
N Friday/spwame Hindi/fZ=t
Q-13  Which of the following professors go to college on Friday?
eng hin  EfIEa & & F19-87 TTHAT LFATT FT Flrst ST1d 82

01. M, N
03. N,L,M
05. None of these

02. J M,N
04. M,J

Ans Key: 1

Ans Key: 2



T A AE T

Solution for Question 13

eng hin

Q-14

eng hin

Professor/aitha< Day/fe=r Subject/fauT
H Monday&amaT History/z ez
| Thursday/ =T Zoology/ TSt
J Friday/s@=Te Geography/‘ﬂ?ﬁ?r
K Thursday/==1% | Botany/Feaiy f=m
L Monday/@ma=m= English/errsft
M Friday/s[@=me Psychology/m=TTasr
N Friday/s=me Hindi/FZ#t

L teaches which of the following subjects?

Frerferfera # & o fawar 7 Laerar 22

01. Psychology

a3

02. Geography

G

04. Botany

03. Hindi
05. None of these
TAH T HTE Tol
Solution for Question 14
Professor/gtha< Day/fR=r Subject/fawr
H Monday=a=m= History/zfa=me

Q-15

eng hin

01. Monday 02. Either Thursday or Friday
qHATT IT T I[EAT AT LFHATT
03. Friday 04. Can't be determined
FATT et w2t o s aear
0S. None of these
TAH A ATE TRl
Solution for Question 15
Professor/Siha< Day/fes Subject/fawr
H Menday=a=me History/zfagre
I Thursday/AT=aT" Zoology/ TSt
J Friday/<am= Geography!‘{fﬁ?’r
K Thursday/T=aTT | Botany/a==Tfa fsm=
L Monday/ara=Te English/&rstt
M Friday/s@ame Psychology/a=Tfa=m=
N Friday/<am= Hindi/%ﬁ

Thursday/AT=== Zoology/ 7 &

J Friday/erm=me Geography/sarT=
K Thursday/AT==T= | Botany/@==Tie f=sm
L Monday/arH=T English/sRrstT

M Friday/sg#=® | Psychology/m=rarsm
N Friday/erw=me Hindi/fE=T

I goes to college on which of the following days?

oot & & e 2 | itersr ST 22

Ans Key: 2

Ans Key: 5

Ans Key: 5



Q-16

eng hin

In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read both the statements and Give answer-

What is the code for 'white paper'?
1. 'paper is black’ is written as '2 8 1' and “black night' is written as '8 6'.
II. ‘pen are white' is written as '9 4 3' and 'pen and paper' is written as '3 7 2'.

Hr=r form 0 s wor | s oy 3T &% e 187 11 o T g ey A8 9 AT g 6 e # R T ey vy # S o % o aeta € ar
TS| ET FAT AT TE
I I-

'white paper'%l?ﬁ'l'qﬁfs’w%

. 'paper is black' #T '2 8 1'% & | 3T "black night' FT '8 6' % =T H foraT STar g1
I1. “pen are white'®T '9 4 3' ¥ H 3T 'pen and paper' FT '3 7 2' F & H for@t SIram %"I

01.

03.

0s.

If the data in statement II alone are sufficient 02.
to answer the question, while the data in
statement I alone are not sufficient to

answer the question.

T AT 11 FT 2T el T FT I &
F e gt g, STafe F99 1 F7 ST 9
FT ITAL AT 6 T T =1 €

If the data either in statement I alone orin ~ 04.
statement II alone are sufficient to answer

the question.

TS IT 7 FT [ H I7 F97 [ H a7 el
IoT T SAL & & 1T I37H gl

If the data in both statements I and II

together are necessary to answer the

question.

TfE AT 1 3T [ T T2 T FT 3T

= % form gate 2

Solution for Question 16

Q-17

White- 9/4; paper-2
Both are not sufficient to answer.

If the data given in both statements I and II together are not sufficient to answer the question.

i FAT 13T NI F T T 27 927 F°7 3L 34 F o0 9377 787 21

If the data in statement I alone are sufficient to answer the question, while the data in statement 11
alone are not sufficient to answer the question.
7% 9 [ H 2T 70 32T W7 FT 3T a4 % (o0 TITH &, STara w4 1§ &0 10 227 337 F7

Ans Key: 2

In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided
in the statements are sufficient to answer the question. Read both the statements and Give answer-

P, Q, R, S and T are sitting in a straight line facing north. Who sit at the extreme ends of the row?
. Q is an immediate neighbour of S and T. Neither S nor T sits at the extreme ends of the row.
II. P sits second to the left of Q, who sits second to the left of R.

;ﬁ%%n—mmr qp;ﬁn:q‘,qg},ﬁ';f:f[q;qq’]ﬁ?[]%ﬁﬂ'}'{%l W}ﬁ'ﬂgﬁ'ﬂ'?’ﬂﬂ '_";3 %%mﬁ%jw%ﬂng'—r3i ?\3_;{\3[’7 51“)1?3{??%?1'[
Tl AT HAT T T

P, Q, R, S 3% T S9¥ &Y AT U Hieft Yam & 9% &1 uir % | ST I¢ i 954 22
I Q,S3H¥ T qchTel TSIET 81 T AT S 3T 7 & T di<h F ifaw 2 a2 a7 21
II. P, Q % &S AT TAYT 93T &, ST R F AT 3¥ FEIT I54T Bl

01. Ifthe data in statement II alone are sufficient 02.
to answer the question, while the data in
statement I alone are not sufficient to
answer the question.

T AT 11 FT 2T Tl T FT IO &
F fore gty g, stafe o 1#7 e o
T IAL & % (70 937q 781 g

03. Ifthe data either in statement I alone orin ~ 04.

If the data given in both statements I and II together are not sufficient to answer the question.

7fT o [T I T § f0 10 227 997 7 392 a0 & for i =487 2

If the data in statement I alone are sufficient to answer the question, while the data in statement 11

05.

statement II alone are sufficient to answer
the question.

e T Q7 F9F [/ F7 F99 [ H 22T el
ToF T 3T & o forT a7ie 2

If the data in both statements I and II
together are necessary to answer the
question.

e o [ 3T 1 ST 3 2T I FT I
39 & forg ot g

Solution for Question 17

alone are not sufficient to answer the question.

Tfa Foe [ H 3w 70 27 w1 &7 397 39 % fore waiy €, stafe fum 0#§ fw are ser wer
EREECEAEIUERILIEE

Ans Key: 3



enghin  FromI)/I) &
P/R S/T Q S/T PR
From II)/ 1I) &,
P ST Q SITR

By using the statements individually P and R are at extreme ends of the row

FRETT =T & FAFT HT STAN FF P T R e F sifow ge aw &

Q-18 In each of the questions below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided
eng hin  in the statements are sufficient to answer the question. Read both the statements and Give answer-

The three friends are X, Y and Z. They all have different professions namely Accountant, Driver and Doctor. Which of the following is the driver?
I. X is an Accountant in a company but Z is not a Doctor.
I1. Y is either Driver or Doctor and Z is either Accountant or Driver.

Hr=r form T s wor W oy 3T &% e 187 11 o U g s ey Ag 9 AT g 6 R # R T ey vy v 39w o % o aete € 4r

TEN T FoT ST 0E
I E-

T T X, Y 37T Z E1 3 TolT SToRT- 4T 997 77 SA=ThTY, ATl oY Tie? gl e § & =31t +i7 82

I X FeT FaeT 7 srhrsee § ot Z St 981 81

I Y o7 |7 STEa< AT ST § 37T Z T a7 AFTSe a7 547 2

01. Ifthe data in statement IT alone are sufficient 02.
to answer the question, while the data in
statement I alone are not sufficient to
answer the question.

TS AT 11 FT ST Aol T T 3L &
% oI gty g, ST w99 [ &7 27 1T
T I 27 % foro axfy 72 2

03. Ifthe data either in statement I alone orin ~ 04.
statement II alone are sufficient to answer
the question.
7T AT AT AT 1 H A7 HA7 1 H 2T ool
9T T SL & & ToI0 I37H 2l
05. Ifthe data in both statements I and II
together are necessary to answer the
question.
TS A9 1 3T M AT 3 T2T T FT 3T
= = foro gty 21

If the data given in both statements I and II together are not sufficient to answer the question.

TfE FIT [ T 1L a1 | T30 70 227 957 7 3¢ 29 & forw aa 77 721 21

If the data in statement I alone are sufficient to answer the question, while the data in statement 11

alone are not sufficient to answer the question.

7% 9 [ H [T 70 2T W7 F7 3T 3 % o0 078 &, STafe 99 0§ &30 710 227 31 F77

I 29 % Torw oIty 81 2

Solution for Question 18 Ans Key: 4
eng hin  From I)/I) T, X- Accountant/3ThTSe<; Z- Driver/STEaY, Y- Doctor/S (52T
Hence Only 1 is sufficient/ SHTT Farel [ TTH g
Q-19 Study the following information carefully and answer the question given below.
B is 7m to the west of A. C is 5Sm to the north of B. D is 5m to the north of C. E is 10m to the east of D. F is 5m to the south of E.
Fraforfaa Iarh &1 eamgE s aegaa < A9 fRgagrgwrsacd
BAF7H afE®# B3I C,BFSHI ST HLEID,CHFSHITHLEI E,DF I0HT Q@ H 81 F,EF 5 HY (o7 § )
F is in which direction with respect to B?
F, B % "ae § forey fRom & 22
01. South 02. North-east
03. East 04. South-west
@ Fferor-afas
05. None of these
TH q TS AR
Solution for Question 19 Ans Key: 2
eng hin &
D 3
5
5
c F
5




Q-20  Study the following information carefully and answer the question given below.
eng hin B is 7m to the west of A. C is Sm to the north of B. D is 5m to the north of C. E is 10m to the east of D. F is Sm to the south of E.

Aafrfad ITaaTd F 18 TETI9 L ATAA FRTATTA FTIATRN
BAF7H afea® 81 C,BF S STHAZID, CHFSHITHZIE,DF I0HT QA H 81 F,EF 5 Hy sferor § )

What is the distance between C and F?
C ST F & &= fr T Fm 8?2

01. 10 m/ft 02. 12 m/t
03. 11m/MY 04. 9 m/Y
05. Sy
Solution for Question 20 Ans Key: 1

eng hin

10

Passage for Question 21, 22, 23, 24, 25 (ST-296 RRB CLERK MAINS R (21-25) 2020)
eng hin Passage

Study the following information carefully and answer the question given below.

The certain number of boxes are kept in a stack in such a way that box numbered 1 is kept at bottom, box immediately above it is numbered 2 and so on. Not
more than 15 boxes are kept in the stack.

Box J is placed at bottom of the stack. Only 3 boxes are placed below F, which is placed adjacent to box H. 5 boxes are kept between box H and box D, where
box D is placed above box H. Only 2 boxes are placed between box A and box B, which is placed immediately above box D. Boxes X and Y are placed below
box G. Box K is placed above box G. Number of boxes between box A and box H are equivalent to that of kept between box B and box E, which is placed at top
of the stack. Box I is placed between box A and box D, which is placed 3 boxes below box G. Both boxes M and N are placed below box I and box B.

et STasT F 1 sa\ga® A£qIT FL AT AT IH FTIACRN

TR T U (TSI Tt 7 U v ° 0 avg § TET AT ¢ o S1e GeAT 1 T qa9 {1 @ SA1dT g, T S FU AT A bl 2 3¥ THY avg ¥ @
STTAT g1 15 & STTa Iy €2 | 7al 46 T 2

T J T T o T A1 TG AT g1 F 36 A= Faer 3 5o 76 A7 2, o sfer H 3 98T 7@ ST 81 9 H 3T St D % & 5 999 7F 1T 8, T8l
IWD@WH%WT@TW% AT A T 1T B, IS8 T D 3 315 F0% TET STAT 8, 3 a1 el 2 TR T SA1d 2| 9T X AT Y T a4 G

F A= TG STar 2| AT K FT I G 3 FIT T@T ST 2| S A ST St H F i i st ST Ji B ST aie B, ST Fa % 9ed H9 1@ AT E,
F ST ST T HEAT o qHIE 21 ST A ST Gt D, ST ST G 3 G0 A gl M 3T N 21 aie 7 aia [ 3T (s B 3 Ji= 7@T 197 2

Q-21 How many boxes are there in total?
enghin e Toha a1 &7

01. 10 02. 11
03. 12 04. 13
05. 14
Solution for Question 21 Ans Key: 5

eng hin

ﬂNWhﬂm\Jﬂ@E::m:
=]




Q-22

eng hin

Which box is at 7th place?
7 & T 9T FA-91 a1 g2

01. B 02. D
03. 04. Can’t be determined
Frathia 7=t T St asar
05. None of these
i 7 1S T
Solution for Question 22 AnsKey: 5
eng hin 14
13 K
12 G
11 X/Y
10 B
9 D
8 I
7 A
& M/ N
5 M/N
a F
3 H
F X/Y
1 ]
Q-23  How many boxes are below A?
eng hin A%Fﬁ%ﬁﬁﬁaﬁm%"
01. 4 02. 5
03. ¢ 04. Cannot be determined
Rretfea agt FhaT ST "t
05. None of these
TAY A TS A8l
Solution for Question 23 Ans Key: 3
eng hin [ 14 | E
=13 % K T i
| 12 G
11 X/Y
10 B
9 D
L
8 |
7
6 M/ N
5 M/N
4 F
3 H
2 XY
1 J
Q-24  How many boxes are above B?
enghin B ¥ I e at 82
01. 2 02. 3
03. 4 04. 5
05. None of these
i 7 1S T
Solution for Question 24 Ans Key: 3
eng hin 14 E
13 K
12 G

11 XY




10 B

9 D

8 1

7 A

6 M/ N
5 M/N
4 F

3 H

2 X/Y

1 J

Q-25

eng hin

Which box is placed at Sth place?
5 3 AT 9T FI-HT G TET 74T 82

01. M 02. N
03. X 04. Y

05. Either M or N
ITAMATN

Solution for Question 25 Ans Key: 5

eng hin

Q-26

I 14 I F
R
12 ’

11

[
(=]

M W & WL W
r

In each of the following questions three statements are given and these statements are followed by two conclusions numbered (I) and (II). You have to take
the given three statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the
given conclusions logically follows from the three given statements, disregarding commonly known facts.

Give answer:

Statements:

Some Set are Get.

All Set are Tet.

Only Get is Met.

Conclusions:

I. Some Get being Tet is a possibility.
II. Some Set is Met.

et geas w1 § 99 Foe 3w T § i =9 F941 % 918 &7 Aoy (1) 3T (1) 3o 7w g sroeny i 70 9 w1 w1 90 AEAr g, 9 g1 a
TTHTA: AT T2 & T St g1 gl Aed o sie e q w3 73 fa o Aot ® & fim-ar f2u 70 @9 w2t § qrfdhes ST 9 @ w2ar
&, ATHTAT: AT TAT 6T AALAAT F2d gl

Wﬁﬁl‘q:

FY:

EEA R

aft e 2= &

Fae e 7 g

IGLE

I. g IE F 22 g T U F9EAT 2l
1. %% ¥ 72 g

01. Ifonly conclusion I follows. 02. TIfonly conclusion II follows.
TS et AT [ e F2ar g | T et e 11 ST Far 2 |

03. TIfeither conclusion I or II follows 04. TIfneither conclusion I nor II follows.

T 77 97 e 197 11 Agaor F2ar @ | T 91 ar R 137 T &7 11 STgaeor #3ar ¢ |

05. TIfboth conclusions I and II follow.
Ffe ot 13 11 ST @ :i3a 2 |



Solution for Question 26 Ans Key: 4

eng hin

€

Q-27

eng hin

In each of the following questions three statements are given and these statements are followed by two conclusions numbered (I) and (II).
You have to take the given three statements to be true even if they seem to be at variance from commonly known facts. Read the
conclusions and then decide which of the given conclusions logically follows from the three given statements, disregarding commonly known
facts.

Give answer:

Statements:

Only a few Sink is Chair.

All Leaf are Chair.

All House are Chair.

Conclusions:

. All Sink being Leaf'is a possibility
II. All House being Sink is a possibility.

fAafafag s o d FaFaa ferre g iz saat & vz Asws () shzan froag &) sros fro g Faai w197
HTAAT R, A &1 9 ATATAQ: ATT A1 & FHA WA grd gt | fsad o s T e ¢ O feg g faset # & sya-aT1 fegaodia
FIAT H AT F TT & LA FLAT §, ATATAT: TTT TSI F 1 AGZAAT FIQ I

ITLAfIT:

FI:

EEEECACER DR

Ty <frE F77 2

gt gred 997 2

IELEA

L. 7Tt {3 % <1 219 7 U g9EET 2
IL. &7 2/s9 = 6= 219 1 U TH91EHr 2

01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.
T et (AT [ AgH20 a1 2 | Tt Fae (ehd 1 SqEeor F2ar g |

03. If cither conclusion I or II follows 04. Ifneither conclusion I nor 11 follows.

T T a1 ey 137 11 S8 Far g | 7% 97 7 e 130T 7 27 11 T80 Far 2 |

05. Ifboth conclusions I and 11 follow.

T (e [ 377 [ ST STE F3d ¢ |

Solution for Question 27 Ans Key: 2

eng hin

Q-28

eng hin

In each of the following questions three statements are given and these statements are followed by two conclusions numbered (I) and (II). You have to take
the given three statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the
given conclusions logically follows from the three given statements, disregarding commonly known facts.

Give answer:

Statements:
Only a few Cis L.
Some L are M.
Only CisR.
Conclusions:



I. Some MisR.
II. Some R being L is a possibility.

frerferfera sears wor & O Fore faw o € i =9 et % 91 &7 AR (1) 3T (1) oo o g sroeny i o i e 9o A e, 9ol gr
T 1T T2AT 7 T Tid gid g Ao ug oive {5 a7 2 o fau o At & & -4 3 70 919 w21 & qiisdhs 9 F SI@<or w2ar
&, FTHATAT: AT TAT 6T AagAAT H2d g

W?ﬁﬁnz:

HAT:
Faq % C, L gl

FEL,MEI

Fad C, R 2

IRLEDF

I. FEM, Rl

I1. & R F L T TF H9TaT g

01. Ifonly conclusion I follows. 02. [fonly conclusion II follows.
T2 Fae fAewT [ SIgET F2ar g | T Fae AT 11 TEer FEar g |
03. Ifeither conclusion I or II follows 04. TIfneither conclusion I nor II follows.

T =1 a1 Ao 13T 1 SIqEe #3ar g | T a7 a1 frewd [ 3T 7 &1 11 e F:3ar 2 |

05. Ifboth conclusions I and II follow.
T Ao [ 3T 11 ST a0 F:3d & |

Solution for Question 28 Ans Key: 2

Q-29

In each of the following questions three statements are given and these statements are followed by two conclusions numbered (I) and (II).
You have to take the given three statements to be true even if they seem to be at variance from commonly known facts. Read the
conclusions and then decide which of the given conclusions logically follows from the three given statements, disregarding commonly known
facts.

Give answer:

Statements:

Only a few Pet are Set.

No Red is Set.

Some Pet is Let.

Conclusions:

I. All Pet being Let is a possibility
II. All Pet being Set is a possibility.

fFafafag v s va 8@ w97 e g st ga w991 & arg 1 sy () st (1) fEgaw &) sroswt fRe e di= saai sraa
ATAAT ], W T ATATAT: AT a1 & P wara gra g1 fAswe o s feraa w1 fr fygarg faseat 7 & syaar e
FIAT A qAIID F & & ATATT HITT g, GIHTAT: ATT AT # T AT AT FLQ U

ITTARIT:

FAT:
FAT FZ U I &

TS I He TR 2

G UT e Bl

IGLEa

I. T 92 % o< S 6l UF GHaT &
I1. 7T 92 % qe g T TF F91aT g

01. TIfonly conclusion I follows. 02. Ifonly conclusion II follows.
T2 Fae (T [ SATET Far g | T2 Fae (w11 TEET FEar g |
03. TIfeither conclusion I or I follows 04. TIfneither conclusion I nor II follows.

T 2T a1 Ao 13T 1 SIqEe F#2ar g | T A7 a1 e [ 3T 7 7 11 SIEo F:7ar 3 |

05. Ifboth conclusions I and II follow.
T Ao [ 37T [ T AqaT 3 & |

Solution for Question 29 AnsKey: 1



eng hin

e

\J

Q-30 In each of the following questions three statements are given and these statements are followed by two conclusions numbered (I) and (II).
eng hin  You have to take the given three statements to be true even if they seem to be at variance from commonly known facts. Read the
conclusions and then decide which of the given conclusions logically follows from the three given statements, disregarding commonly known
facts.
Give answer:

Statements:

Some Show are Great.

All Show are Treat.

Only Great is Meet.

Conclusions:

1. Some Great being Treat is a possibility.
II. Some Show are Meet.

fafafag s o d FATFaa ferre g ATsTFIat F arg 7 Fwws () sz ) froaw d) sros fro o i Faai wraeg
ATAAT ], W& T ATATAT: ATT AT & P w7 gra gf | fAswd o T e g = O fyg o faseat # & sya-a1 iy dia
FIAT Y ATHF T F LI FLAT §, ATATAT: ATT TSI F T AGZAAT HIQ I

IgTARIT:

FAT:

T AT W B

Toft o ST 2

A HETT 9l g

fAeae:

I. % AT % &I g ! Th THTEAT 2
IL. % or [T gl

01. Ifonly conclusion I follows. 02. TIfonly conclusion II follows.
T Fae ey [ STTET Fal ¢ | FfE Farer (R 11 a0 F2aT 2 |
03. Ifeither conclusion I or II follows 04. If neither conclusion I nor II follows.
Ffe 77 7 Aot 197 11 SaoT Far & | Tt 77 a1 o 137 7 &1 11 STa7or F#7ar ¢ |
0S. Ifboth conclusions I and II follow.
T AR [ 37 [ 2T STEe F3d ¢ |
Solution for Question 30 Ans Key: 4

Q-31 In each of the following questions, assuming the given statements are to be true, find which of the two conclusions I and II given below is/are definitely
eng hin  true.
Then give answer-

Statements:

Apple < Banana < Cherry = Dosa, EIf = Banana < Fries, Ghee > Fries
Conclusions:

1. Apple > Fries

II. Ghee > Dosa

e oedi | T S0 =1 o7 | HAd g4 S itory, 5 At fed o a1 fAewet 10 11 # & Fa-an R &9 8 a0 g1 397 -

R
Apple < Banana < Cherry = Dosa, ElIf = Banana < Fries, Ghee > Fries



Ao
1. Apple > Fries
II. Ghee > Dosa

01. Only conclusion I is true. 02. Only conclusion II is true.

fAed [ 9o 3 e 1157 81

03. Either conclusion I or II is true. 04. Neither conclusion I nor II is true.

77 7 AR a7 fRe 1 5o 2 A Iqer g a9 & 1T 3

05. Both conclusions I and II are true.

e 1 32 11 3T |97 2

Solution for Question 31 Ans Key: 4

eng hin

1. Apple < Banana < Fries

Apple >Fries (False/ 375 <T)

Il. Ghee > Fries > Banana < Dosa
Ghee > Dosa (False/ smer)

Q-32

eng hin

In each of the following questions, assuming the given statements are to be true, find which of the two conclusions I and II given below is/are definitely
true.
Then give answer-

Statements:
Apple > Banana < Cherry; Dosa = Banana; Apple < Elf; Fries < Dosa < EIf

Conclusions:
I. Dosa> Cherry
II. Apple < Cherry

o weat § 33 03 ot 7§ WA g G rory 6 Jr {23 7 <7 Aot 1T 1 # & FiF-91 [ 9 F 707 g1 397 ffr-

HI:
Apple > Banana < Cherry; Dosa = Banana; Apple < Elf; Fries < Dosa < EIf

reay:
I. Dosa> Cherry
II. Apple < Cherry

01. Only conclusion I is true. 02. Only conclusion 1T is true.

Ao 137 2 fAerd 157 2

03. Either conclusion I or II is true. 04. Neither conclusion I nor II is true.
77 7 TR [ 37 Fhe 1 5T 2 T AT oy [ geq & T 1197 81

05. Both conclusions I and II are true.
el [ ¥ 11 2T e 2

Solution for Question 32 Ans Key: 4

eng hin

|. Dosa > Cherry (False/ 319c)
Il. Apple < Cherry (False/ 319c)

Q-33

eng hin

In each of the following questions, assuming the given statements are to be true, find which of the two conclusions Iand II given below is/are definitely
true.
Then give answer-

Statements:
Price < Quest > Rice = Soil; Soil < Tar; Tar = Price > Urn; Vet < Urn

Conclusions:
I. Quest = Price
II. Quest > Price

e oIt & 33 0 o1 7 S A g3 T HI1o10 136 1= 1&7 77 &7 et [ 3 11 H | F19-971 [T 7§ 97 g1 39 dfeu-

HqA:
Price < Quest > Rice = Soil; Soil < Tar; Tar = Price > Urn; Vet < Urn

e
1. Quest = Price
II. Quest > Price



01. Only conclusion I is true. 02. Only conclusion II is true.
e 157 21 e 1157 81

03. Either conclusion I or II is true. 04. Neither conclusion I nor II is true.

77 a1 AR [ 97 {62 11|37 2 T AT e [ 7er & T2 1197 21

05. Both conclusions I and II are true.

e 1 32 11 3T 97 2

Solution for Question 33 Ans Key: 3

eng hin

1. Quest = Price (False/ 3r€<T)
II. Quest > Price (False/ 3rq<)

Both conclusions are false, but here will be the case of 'Either-Or'.

AT ARy s1ered g e Tt =T a7 AT ATt Rafa gri

Q-34

eng hin

In each of the following questions, assuming the given statements are to be true, find which of the two conclusions Iand II given below is/are definitely
true.
Then give answer-

Statements:
Apple > Banana = Cherry , Cherry < Desk < Elk , Fries = Goat > Desk

Conclusions:
[. Fries < Apple
II. Elk> Apple

9 woat & 33 7 o1 7 9 JIAd g2 G i1y o6 1= f&r 7 &7 et [ 37 11  FHi9-97 [ 9 F 977 g1 39 diu-

HA:
Apple > Banana = Cherry , Cherry < Desk < Elk , Fries = Goat > Desk

IGLEA
I. Fries < Apple
II. Elk > Apple

01. Only conclusion I is true. 02. Only conclusion II is true.

e [ 7o 81 TR 11 9T B

03. Either conclusion I or II is true. 04. Neither conclusion I nor II is true.

7T A7 R [T 52 11 517 81 T T (AT 2 T T 2

05. Both conclusions I and II are true.
el 1 3f¥ 11 =T e 2

Solution for Question 34 Ans Key: 3'4

Apple = Cherry < Desk = Fries
Apple = Cherry < EIlk

l. Fries < Apple (False/ 319c)
Il. EIk > Apple (False/ @)

Q-35

eng hin

In each of the following questions, assuming the given statements are to be true, find which of the two conclusions Iand II given below is/are definitely true.
Then give answer-

Statements:
Art> Part = Sir > Tar, Vet < Bet = Tar > Xax

Conclusions:
1. Art> Xax
II. Part < Bet

e woat & 33 1 T 7 S A g3 G 1970 {36 A= fed T &7 et [ 377 11 H | F19-971 [T 7§ 97 g 39 dfeu-

ER LN
Art> Part = Sir > Tar, Vet < Bet = Tar > Xax
o=

1. Art> Xax
1I. Part < Bet



01. Only conclusion I is true. 02. Only conclusion II is true.

e 17 21 e 1187 81
03. Either conclusion I or IT is true. 04. Neither conclusion I nor IT is true.
77 a7 ey 137 o6 11 77 B T T T [ Hea g & 19T B
05. Both conclusions I and II are true.
e 1 i< 11 2T e £
Solution for Question 35 Ans Key: 1'3

enghin ~ Art > Tar > Xax
Part> Tar= Bet
I. Art > Xax (True/T)
Il. Part < Bet (False/3ra<T)

Passage for Question 36, 37, 38, 39, 40 (RRB-01(30-34R)2020)
eng hin Passage

Study the given information carefully and answer the questions given below:

Fafafaa TTasTd &1 eamgd® qeqaa L AT 27 73 vt F s AR/

Seven persons A, B, C, D, E, F and G are travelling to different cities I, J, K, L, M, N and O but not necessarily in the same order. All of them have also different
types of gadgets T, U, V, W, X, Y and Z.

The person who goes to city N has a gadget W. D does not go to city K but its gadget is Z. The person who visits City I is named G but does not have Gadget V.
B neither goes to city M nor city L. A has the gadget T. Both A and B neither travel to city J nor city L. The person who visits the city K has the gadget Y. D and F
are traveling to city L and J respectively. Neither C nor E travels to the city O. Neither B nor G has the gadget Y. B has either the gadget Z or gadget W. G does
not have gadget X. The person who goes to city M does not have Gadget V. C does not have Gadget Y.

g =7~F A, B, C, D, E, F 3fIT G e7-37e17 91241 1, J, K, L, M, N 3fT O % o0 Ira T 72 8, ATohe STed ! Jal (6 SHT 9 § 211 37 THT F IT9 S[el-
AT TR F T T, U, V, W, X, Y ST Z 2

ST =f=F 9T N STTaT g S 9T 3912 W 21 D, 978 K g1 SITaT § TR 38 9T 957 Z 81 S =1=F 978 [ SITaT € ST 919 G § S 36 919 55e V
TET &1 BT AT 91T M 37¥ T g1 9Tg¥ LSTaT 81 A% 9T oie T g1 A 3f¥ B TUH1 34Tk 7 a7 918 ¥ J 3T 7 &1 918¥ L3 forw am=m iz g1 517 =1i~r arge K it
AT FXAT & I I8 e Y 21 D 3T F 79T T LA J R R amn T @ g1 Tar C AT A ST EqgT O F MU AT 2 g1 T AT B i A& GF I
51 Y 81 B 3 9T AT AT 5ie Z AT IS W 1 G 3 9T 15iE X g1 g1 ST =4f<h 7g¥ M &l STTaT & 39 IT9 9ie V A8l gl C 3 9T foie Y 781 2l

Q-36  Which gadget does G have?
G F T &I AT E 2

01. v 02. w

03. U 04. Cannot be determined
BEIESEHIERISIEET

05. Either option 1 or 3

7T A7 e 1 97 3
Solution for Question 36 Ans Key: 3
Name / -IH | City / 2g? : Gadget/ ifeic
A 0 T
B N W
Cc M X
D L z
E K g i
F J v
G I u

Q-37 The person who has gadget W goes to which city ?
eng hin TS/ =< % 9T 1512 W € 98 &l & 978 & S(av & 2

01. | 02. L
03. J 04. N
05. Either option 1 or 2

RIKIREETE B 1)

Solution for Question 37 Ans Key: 4




eng hin

Name [ TH |City / T6¥ | Gadget / T5iT
A 0 T
B N W
C M X
D L 7
E K Y
F J v
G I U

Q-38

eng hin

Which of the following is correct ?

Forey & & T T AR 3 0

01.
03.
0s.

B-M-W
G-1-V

None of these

T A AE T

02.
04.

C-M-X
F-J-Z

Solution for Question 38 Ans Key: 2
Name | ATH | City [ lgY Gadget/ HE o
A |o a0
5 =
D L P
E [ Y
- | [
e | J
Q-39 E goes to which city and what gadget does he have?
E T3 9Tg¥ &1 SITdT g T Seh I8 i |7 e g 2
01. Nand W 02. LandZ
N T W LT Z
03. K ar‘ld Vg 04. 1 aljd X
KTy I3 X
05. None of these
TAH F ATE Aol
Solution for Question 39 Ans Key: 3
eng hin
Name / ITH | City / 918 | Gadget / TISic
Q T
B N w
c M X
D L z
E K Y
E J W
G I u
Q-40  What is the name of the person who goes to the city O ?
eng hin ST SAT<H TZT O FT STAT § IHHT FATAHE ?
01. F 02. C
03. B 04. A
05. None of these

T ATE TE



Solution for Question 40

Ans Key: 4

eng hin

Name / TH | City /| G | Gadget / ST
0

— | R |

o|mmo|lo|o]|®»
cl<|=<[n]x]=]+

Q-41

eng hin

What will come in place of question mark (?) in the given question?
41x37-36x29 = 7% of 800
w7 s T e e (2) 36T EAT FAT AT

41x37-36%29 = ?% of 800

01. 56.625 02. 57.375
03. 60.25 04. 59.125
05. None of these / ZTH T FTS T2l

Solution for Question 41

Q-42

41x37-36%29=2% of 800
2%x8=1517-1044
9=59.125

What will come in place of question mark (?) in the given question?

V157464 +/324 =2
0 0 ey # e e (2) 7 2 T S

V157464 +\/324 =2

01. 27 02. 15
03. 29 04. 3
05. None of these / ZTH T FTS 2T

Solution for Question 42

cug i

/157464 /324 -2

7=54/18=3

Ans Key: 4

Ans Key: 5

Q-43

eng hin

What will come in place of question mark (?) in the given question?
63.5% of 8920 + 22% of 5320 =?
T T sor e 5 (2) T #AT AT AT

8920 FT 63.5% + 5320 &1 22% =?

01. 6798.6 02. 6834.6
03. 6890.2 04. 6842.5
05. None of these/Z7H & FTE T2T

Solution for Question 43

Ans Key: 2

eng hin

63.5% of 8920 + 22% of 5320 = ?
?7=5664.2+1170.4

?=6834.6

4.27 % 164 +3739=7-32.630




Q-44

eng hin

What will come in place of question mark (?) in the given question?
27 x 164 + 3739 =7 -32.630
T T sor 7 e R (2) T FA AT S

27 x 164 + 3739 =7 -32.630

01. 8199.63 02. 7899.43
03. 8599.63 04. 8899.43
05. None of these/ZH ¥ T A&l

Solution for Question 44

Ans Key: 1

eng hin

27 x 164 + 3739 =?—-32.630
4428 + 3739 = ? —32.630
?=28199.63

Q-45

eng hin

What will come in place of question mark (?) in the given question?
182 -37.5% of 420 =?
T T 5o & o e (2) 67 FT FAT AR

182 - 420 7 37.5% = 2

01. 153.25 02. 162.5
03. 169.75 04. 166.5

~

05. None of these / 7 ¥ FTS Aol

Solution for Question 45

Q-46

182 37.5% of 420 = ?
2=324-157.5
?=166.5

What will come in place of the question mark (?) in the following number series?

27, 50, 192, 1140, 9104, ?

o forfr = siee § w37 =g 3 T4 9% &l &7 719 AT F1igu?

27, 50, 192, 1140, 9104, ?

01. 90400 02. 91020
03. 92040 04. 94060
05. 96080

Solution for Question 46

Ans Key: 4

Ans Key: 2

eng hin

27, 50, 192, 1140, 9104,

91020

x2-4 x4-8 x6-12 x8-16 %10 -20

Q-47

eng hin

What will come in place of the question mark (?) in the following number series?

4, 7, 13, 23, 38, 59, ?

e ferfera wwear s@ar § w7 =g % ©419 9% &9 97 719 1 A0

4, 7, 13, 23, 38, 59, ?

01. 72 02. 80
03. 87 04. 95
05. 85

Solution for Question 47

Ans Key: 3

eng hin

4, 7, 13, 23, 38 59, 87
+3 +6 +10 +15 +21  +28

43 +4 45 +6  +7

k]



Q-48 What will come in place of the question mark (?) in the following number series?
eng hin

6, 11, 32, 111, 464, ?

e forfera s siear § wo1 =g 3 T4 9% 19 97 719 A7 FA1igu?

6, 11, 32, 111, 464, ?

01. 2345 02. 2475
03. 2525 04. 3050
05. 2640
Solution for Question 48 Ans Key: 1
enghin ¢ 11, 22 111, 464, 2345
x1+5  x2+10 =x3+15  x4+420 x5+25
Q-49  What will come in place of the question mark (?) in the following number series?
eng hin
16, 30, 84, 324, ?, 9570
e forfera s siem # w1 =g F #9992 F19 &1 91 W1 A8 0?
16, 30, 84, 324, ?, 9570
01. 1575 02. 1584
03. 1624 04. 1600
05. 1596
Solution for Question 49 Ans Key: 4
16, 30, &4, 324, 1600, 9570
=1)%2  =2)%x3 -3)x4 —4)x5 -—5)%6
Q-50 What will come in place of the question mark (?) in the following number series?
2, 6, 33, 49, 174, 210, ?
e forfer s st § w21 =g % T4 9% &l 867 /9 A7 F1igu?
2, 6, 33, 49, 174, 210, ?
01. 275 02. 387
03. 464 04. 553
05. 495
Solution for Question 50 Ans Key: 4

enghin 2 6, 33, 49, 174, 210, 553
125 B e+ b P

Q-51 In each question two equations numbered I and II are given, you have to solve both the equation and choose the correct answer.

eng hin
I 3x*-4x-4=0
IL3y*+17y+10=0

T WT § T FHIHI AT M0 2, ATTHT 7 FHEHI0 FT g Fh Al Iq¢ 7 3

I. 3x*—4x-4=0
1L 3y*+ 17y +10=0

01. X>Y 02. X<Y
03. X<Y 04. X>Y

05. X =Y or the relationship can’t be
established /X =Y 3T T¥aeey TTAT A1
ERUSIEETI

Solution for Question 51

Ans Key: 4



enghin [ 3x2_4x-4=0

x=-2/3,2
I 3y2+ 17y + 10 =0
y=-5, -2/3

Q-52 In each question two equations numbered I and II are given, you have to solve both the equation and choose the correct answer.

eng hin
I 3x*-15x +12=0

IL 3y>- 19y +20=0
T TT § T FHIHI A0 M0 B, ATTHT =7 FHFI0 FT A FH Al IAL AT B

L 3x2—15x +12=0
IL 3y>- 19y +20=0

01. X>Y 02. X<Y
03. X<Y 04, X>Y

05. X =Y or the relationship can’t be
established
X =Y IT Fraresr eA7ioed A=} 3 o
HehdT

Solution for Question 52 Ans Key: 5

L.3x>— 15x +12=0
X=14/3,3

I 3y>- 19y +20=0
Y=4/3, y=5

Q-53 In each question two equations numbered I and II are given, you have to solve both the equation and choose the correct answer.

I 2x2-17x+35=0
IL 3y>- 14y +15=0

T ToT § T FHIHT AU U 8, AT 7 TR0 1 g Feh el AL qAT B

I 2x2-17x+35=0
II. 3y?- 14y + 15=0

01. X>Y 02. X<Y
03. X<Y 04. X>Y
05. X =Y or the relationship can’t be
established
X =Y A7 gy T Al AT S
JehdT
Solution for Question 53 Ans Key: 1

enghin 5. 17x+35=0
x=7/2,5

3y?- 14y +15=0
y=5/3,3

Q-54 In each question two equations numbered I and II are given, you have to solve both the equation and choose the correct answer.
eng hin

I 3x*-4x-15=0

II. 3y*-23y +30=0

T ToT § T FHIHA Q0 T 2, ATTHT ST GHIHI0T T g 0 Al I G947 2

I 3x2-4x-15=0
I 3y?-23y +30=0

01. X>Y 02. X<Y



03. X<Y 04, X>Y

05. X =Y or the relationship can’t be
established
X =Y 37T e Trfod At 3 o
ehd T

Solution for Question 54 Ans Key: 5

enghin I 3x2-4x-15=0
=-5/3,3
II. 3y*-23y+30=0
y=5/3,6

Q-55 In each question two equations numbered I and II are given, you have to solve both the equation and choose the correct answer.
eng hin

I. 3x2-5x-28=0

1. 2y?-17y + 36 =0

T TF § T FHIHT 30 M0 B, ATTRT 7 FHFIO T A Fh Hel IAL AT B

I 3x2-5x-28=0
IL 2y2-17y +36=0

01. X>Y 02. X<Y
03. X<Y 04. X>Y

05. X =Y or the relationship can’t be
established
X =Y IT F¥eeey eriad wal 36T S
qahdr
Solution for Question 55 Ans Key: 3

I. x2-5x-28=0
x= -7/3,4
II. 2y*-17y+36=0

y=4,9/2

(98]

Q-56 Ratio of present ages of Suresh and Mahesh is 6 : 7. After four years their ages will be in the ratio 7 : 8. 2 years from now,the age of Deepa will be four-
fifth of Mahesh’s age. What is the present age of Deepa ?

TEIT ST AT T AAHTT AT T AT 6: 7 1 AT ATA o AT3 IAT AT 7: 8 o AT H gIIT| 376 & 2 9 a1, &7 T 37 Tl ¥ 307 FT 4/5
RN 9T ¥ T AT FAT 2

01. 24 years/ad 02. 28 years/a™
03. 22 years/ad 04. 18 years/a™
05. 20 years/ad
Solution for Question 56 Ans Key: 1

enghin  gx4+4 7
7x+4 8

48x + 32 = 49x + 28
x=4

4 4
Deepa’sage + 2 =§>< (7Tx+2) =§>< 30 =24
Deepa's age = 22 years

6x+4 7
7x+4 8

48x+32 =49x + 28

x=4
T shi +2—4—><(? +2)—i><3[]—24
HE =g X =3 =

FHar HG = 22 years

Q-57 If the speed of a boat in still water is 14 km/hr and speed of the stream is half the speed of the boat in still water, find the total time taken to cover a



eng hin  distance of 147 km upstream and the same distance back ?

Tfs Faw ST § wa a1 7 i 14 By / w2t § o7 o ff fd Row st & ara fy afd & oweft 8, ar g 147 T S g s s g fr g aw

FIA § N ATAT Fel THT AT HTTo(0?

01. 35 hours /5< 02. 21 hours /5

03. 28 hours /=< 04. 26 hours /5

05. None of these / ZH H IS 7T
Solution for Question 57 Ans Key: 3
eng hin 147 147 _ 147 147

Required time=

- = hours
14+?+14—7 21+ 7 TR

147 147 147 147 .
iy THI= —_— =t —= =28 R
Mar g AT g Lan

Q-58 Average marks of Nopur in five term tests is 88. Average marks of first two term test is 86.5 and the average marks of last two term tests is 89.5. Find her
eng hin  mark in third term test ?

T ZH 28 | YT F SfOd 37 88 T TgT a7 W ¥ F SfAd 3F 86.5 ¢ T AfAwW I =H w0 F 3fAd dF 89.5 &1 AT FrIHTA F qLreror A

IHFT I ATt 2
01. 78 02. 85
03. 88 04. 86
05. 855
Solution for Question 58 Ans Key: 3

(5x88) = (2x86.5) + x + (2x89.5)
X =440-173 - 179 =88

Q-59 Three-eigth of a number is equal to 65% of another number. Second number is equal to five-seventh of another number. If the first number is 13, find the
third number ?

T HEAT FT 3/8 T oter |1 % 65% F SrEY 1 qELY €A1 gHL €A1 & TiA-9Iad & a7 g1 TS TgedT AT 13 g, v A S qa

FrorT?
01. 21 02. 105
03. 115 04. 19
05. 9
Solution for Question 59 Ans Key: 2
AP o
g)-( 19 = 100 X ind number

2nd b —jx13x;00—15
1 T er—ﬁ 55_2

15 5 3rd 5
5 = 7 X 3rd number

e,
T ]f'll.l.l'll.E!I'—2 5—2— .

g><13=%50 TRl

’ 3 100 15
TEIFET =~ x 13 T
%zgx?ﬁﬂﬁ@
e E@E :1—25x§:—=10.5

Q-60 Atul marks the price of a pair of shoes at 12% above the cost price. If he offers a discount of 6%, find his profit percentage?
enghin ST ARTT T & 12% FT Al 6T TF SIS AT HAT FF (= {=Ad F2av 2| T T8 6% FT G2 T AT &, AT IHHT ATH Tqerd S Hirfora?



01. 4.25% 02. 6.2%
03. 5.72% 04. 528%
05. 4.96%

Solution for Question 60 Ans Key: 4

eng hin

Let cost price be Rs. 100

marked price = Rs. 112
94
Selling price = 112 x 100 = Rs.105.28

105.28 — 100
% profit = —————— x 100 = 5.28%
T CP 100 774 ¥
Fifera gea=112 ¥
94
o o= 112 % o = Rs. 105.28
105.28 — 100

Y %= T ¥ 100 = 5.28%

Q-61

In a 22 kg mixture, cement and sand are in the ratio 7: 4. If 6 kg of cement is added to this mixture, the ratio of cement and sand in the mixture would be ?
22 Tt forsror &, €8 off¥ ¥ 7: 4 % qard § €1 Ffw =0 frsqor § 6 Fremrme =i Srer Strar &, a1 feaor § =iz sire ¥ &7 sqara grm?

01. 5:3 02. 6:5
03. 4:3 04. 3:1
05. 5:2

Solution for Question 61 Ans Key: 5

Q-62

Total mixture (7+4) =22 kg

1 ratio=2 kg

Original mixture of cement=7(2)=14 kg
Original mixture of sand=4(2)=8 kg
New ratio=(14+6) : 8=20: 8=5:2

e 7 (7 +4) = 22 Themr

1 SraT = 2 faear

"z 7 7 = =7 (2) = 14 v
T T A o =4 (2) = 8 f#er
TAT ST = (14+6): 20 =20:8 = 5:2

Ankit and Mukesh can alone do a piece of work in 8 days and 12 days respectively. With the help of Ramesh, they can finish it in 4 days. If the salary
difference between Mukesh and Ramesh is Rs.11440, find the total salary of Ankit, Mukesh and Ramesh ?

SR ST T sTahet 8 TaT fi¥ 12 foei § U TH T G 5| THE il 738 § F 34 4 faA1 § & FT G g TT Tahor i< 70 & &1+ aa
ST 11440 0 &, T SR, Waher Sii¥ THT T H[A aa9 AT F32

01. Rs.22880 02. Rs.34320
03. Rs.17160 04. Rs.28600
05. Rs.40040

Solution for Question 62 Ans Key: 2

eng hin

Ankit’s one day work = 1/8

Mukesh’s one day work = 1/12

(Ankit + Mueksh + Ramesh)’s one day work = Y4
Ramesh’s one day work = %4-1/8-1/12 = 1/24
Then efficiency is = 1/8:1/12:1/24=3:2:1

2x = 11440

X=15720 Rs

Then total salary of all is = 5720x6 = 34320

3ifehd &7 U T &r h1H = 1/8

AT FT UF fae &7 10 = 1/12

(STToRT +Taher+ THET) T UF [ 7 19 = 1/4
THET T UF (& FTHH = Y%-1/8-1/12 = 1/24
fhe geqar=1/8: 1/12: 1/24=3:2: 1%

2x = 11440

X=5720%

TR =it T T aae = 5720 x 6= 34320 %



Q-63 A sum of Rs.150000 is deposited in a bank at an interest rate of 14% per annum. If the interest is compounded half yearly, find the amount received at the
eng hin  end of 1 year (approximately)

o H iq a9 14% T 5475 3T T2 150000 FT2 AT T STAT T ST 1 AT SATS FHTGT & & HATST &, AT 1 T (FATAT) F 3 F ATH 0090 AT

Frfsrr?
01. Rs.177300 02. Rs.176260
03. Rs.171735 04. Rs.172200
05. Rs.178270
Solution for Question 63 Ans Key: 3
eng hin
1412
: L 2
Required amount = 150000 (1 + 1[1[])
= 150000 x 1 * L = Rs. 171735
= 100 7100
142
avfre fisres = 150000 ( 1 +-—2-
100
150000 x — x 197 _ ps.171735
=15 — X = Rs. 171735
T
Q-64 If a 330 m long train crosses another train whose length is 60 m less than the first train and travelling in the opposite direction towards each other, in 30
sec, find the sum of the speeds of the two trains.(in km/hr)
T2 330 Hiex T o AL & Hl T FIAT &, STEehl dars Tgetl o | 60 HieT FF g 3T UH-gay il oudia (o § am=m w2 gu, 30 ¥ #, 2T
ST T T T AT 3 | (TRt / s H) 2
01. 72 km/hr 02. 65 km/hr
03. 78 km/hr 04. 75 km/hr
05. 69 km/hr
Solution for Question 64 Ans Key: 1

330+270 600

Required sum of speed = = = 20m/sec
4 P 30 30 :
: y 18 ”
in km/hr = 20 x & 72 km/hr
e ol % 270 00 5
et et apfie dp . S50+ 270 _ 600 20 i/,

30 30

~

o - 18 .
FHiET o :zox?:?zww,—

Q-65 A book seller has 10 painting books, 18 story books and 17 rhymes books. It he sold 2 books, what is the probability that these two books are both
eng hin  painting books or both story books ?

T TEa faadr & 919 10 ST geqs, 18 FEHT qeqah T 17 FHiadr [ ¢ 9% 364 2 farare sr=i, 1 7 amat ¢ & T e frare gfdr &

ERIERIEACIETACTEARERIC RN
01. 1 02. 1
11 E
03. 1 04. 1
15 E
0s5. 1
6
Solution for Question 65 Ans Key: 2
eng hin ,  10C,+18C, 1
Required probability = TEE. %
2

Frvfiy wfteay - 1002 +18C. _ 1
45C, 5




Passage for Question 66, 67, 68, 69, 70 (ST-296 RRB CLERK PRE M (26-30) 2020)
eng hin Passage

Read the following graph carefully to answer the questions that follow:
Percent profit earned by the two companies A and B over the year
120%

100%
s0%  80% 90%
- WA
60% 60% 0% ——A

50% —i—F
40% v
o ao%
20%
0% : : T T
1953 1994 1995 1995 1997 1998

Tt w=1t #1392 39 F fore Fefefea o #1 e a1 ag:
o o =t & v FfATt A oie B gy s e

120%
100% /—196%
B 0% 280% B0% —t 90%
70% .
60 6034 50% 70% A
50% B
P 40%
30%
- 993 994 1395 1396 1997 19498
Q-66 If income for company A in the year 1994 was 35 lakhs what was the expenditure for company B in the same year?
e 7 1994 H F9=T A F Forw &7 35 <@ off, a7 St a9 F9=1 B % forw =257 3747 92
01. 123.5lakhs 02. 128 lakhs
123.5 <T@ 128 T
03. 132 lakhs 04. Data inadequate
132 @TF HihS ATATH
05. None of these
TAH  HE TET
Solution for Question 66 Ans Key: 4

Incomes- Expenditures of company A and B cannot be correlated. So, data inadequate.

M- FOAT A ¥ B F 77 T HgHaE Al 64T ST TFHaT g1 qT, ST AT gl

Q-67 The income of company A in 1996 and the income of company B in 1997 are equal. What will be the ratio of expenditure of company A in 1996 to the
eng hin  expenditure of company B in 1997?

1996 # Fut A T A7 3T 1997 H FAT B F¥ 1T a27aT g1 1996 § FUAT B @+ T AATT 1997 H FAAT B F =T HT ST FAT ZRIT?

01. 26:7 02. 17:16
03. 15:170 04. 116:17
05. None of these
TAH H A TRl
Solution for Question 67 Ans Key: 2

eng hin  Expenditure of company A in 1996=E96A = 196A [100/ (100+ 60)] = (5/8) I96A
Expenditure of company B in 1997
=E97B =197B [100/ (100+ 70)]
=(10/17) 197B
=E96A/ E97B = (5/8)/ (10/17)
(Since [96A =197B) =17:16

1996 & FOT A FT 37T = E96A = I96A [100/ (100+ 60)] = (5/8) I96A
1997 % F9+t B &T =47
=E97B =197B [100/ (100+ 70)]



=(10/17) 197B
=E96A/ E97B = (5/8)/ (10/17)
(S T 196A =I97B) =17:16

Q-68 During which of the following years the ratio of percent profit earned by company A to that of company B was the maximum?
eng hin  TferfEa & & e a0 3 S0 Fe A ST F91 B 51T AT Tiqerd AT T ST AT =12
01. 1993 & 1996 both 02. 1995 AND 1997 both
03. 1993 only 04. 1998 only
05. None of these
AT F FIE AR
Solution for Question 68 Ans Key: 3
eng hin  Ratio of A: B is greater than 1 for only two years 1993 and 1997.
It is 40/30 = 1.33 in 1993 and 80/70 = 8/7 = 1.14 in 1997.
Hence, 1993 is the right answer.
A: B T 3T3UTd sharet a1 ¥ 1993 37K 1997 % foqw 1 & aiferen 21
I8 1993 H40/30 = 1.33 3T 1997 H80/70 = 8/7 = 1.14 8]
zaf, 1993 T W R
Q-69 If the expenditure of company B increased by 20% from 1995 to 1996, the income in 1996 will be how many times the income in 1995?
7T 1995 & 1996 TF FAT B FT @= 20% a2 T4T, AT 1996 § 317 1995 F a1 Fhat grf?
01. 2.16 02. 1.2
03. 1.8 04. Equal /a3TaT
05. None of these /79 & FTS A=l
Solution for Question 69 Ans Key: 2
Let expenditure of B in 1995 be x. Then E96B =1.2 x (since x+ 20% of x =1.2) Now, [95B = E95B [(100+ 80)/ 100] = 1.8 x [96B = E96B [(100+ 80)/
100] x1.2 x [96B/ 195B =1.2 times.
1995 ¥ B =T =4 x TR
E96B =1.2 x (since x+ 20% of x =1.2) Now, 195B = E95B [(100+ 80)/ 100] = 1.8 x 196B = E96B [(100+ 80)/ 100] x1.2 x I96B/ I195B =1.2 times.
Q-70 If the income of company A in 1996 was Rs. 36 lakhs, what was the expenditure of company A in 1996?
enghin T2 1996 H FT AFT 17 36 AT@ =0 off, AT 1996 H FAAT A FT =77 FT =12
01. 225 lakhs 02. 128.8 lakhs
22.5 919 128.8 @TE
03. 120 lakhs 04. 121.6 lakhs
120 <&@ 121.6 919
05. None of these /Z7H H FIS AT
Solution for Question 70 Ans Key: 1
eng hin  E96A =196A [100/ (100+ 60)] = 36 x (100/160) = 22.5 lakhs

E96A =196A [100/ (100+ 60)] =36 x (100/160) = 22.5 &

Passage for Question 71, 72, 73, 74, 75 (ST-296 RRB CLERK MAINS M (31-35) 2020)
eng hin Passage

Study the graph carefully to answer the questions that follow:

Cost of three different fruits (in rupees per kg) in five different cities
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Q-71 In which city is the difference between the cost of 1 kg of apple and cost of 1 kg of guava second lowest?
enghin | et & T AT 377 | et T2 TAY 999 7 ARG & a9 7 daq¥ (6 T8 7 82

01. Jalandhar 02. Delhi
- -
03. Chandigarh 04. Hoshiarpur
0S. Ropar
T

Solution for Question 71

eng hin [t is clear from the graph that in Jalandhar, Delhi, Chandigarh, Hoshiarpur & Ropar the required differences are 100, 40, 60, 60, 20 respectively.

T I8 WY 8 fop STeter, foeeft, siEiTe, SRRRGT 7 s # sTewes STt sasr: 100, 40, 60, 60, 20 €

Q-72 Cost of 1 kg of guava in Jalandhar is approximately what per cent of the cost of 2 kg of grapes in Chandigarh?
eng hin  STTe H | fhetr srase it htHa Jsive 2 THaT S ot e 7 «wre foeer 22

01. 66 02. 24
03. 28 04. 34
05. 58

Solution for Question 72

eng hin  he cost of two kg of grapes in Chandigarh
=90 x 2=X180
The cost of one kg of guava in Jalandhar = 260

2 « 100
180

Required percent = 33.33 %
=34%

IR SR | &7 et s T i s
=90 x2=3 180
STALE | U fhet sTes i T = of 60

2 « 100
180

AT Tfa9d = 33.33%
=34%

Q-73 What total amount will Ram pay to the shopkeeper for purchasing 3 kg, of apples and 2 kg of guavas in Delhi?
enghin  TTH ¥ TR &I fawell | 3 FoelT &ar 3ir7 2 fohett srwese @dtae o forg et fhaet Trfer 1 s fom grme

01. 3530 02. %450
03. 560 04. 2620
05. None of these /Z7H ¥ s Tl



Solution for Question 73

Ans Key: 5

eng hin  The cost of 3 kg of apples in Delhi = 3 x 130 = 390 The cost of 2 kg of guavas in Delhi =2 x 90 = 180
Required total amount will be = (3 x 130 + 2 x 90) = (390 + 180) = X570

faeett 7 3 foret 8 ot @RI = 3 x 130 = 390 fawett & 2 forat qam it @ = 2 * 90: 180

ST A TRT = (3 x 130 2 x 90) = (390+180)

=570 Y

Q-74 Ravinder had to purchase 45 kg of grapes from Hoshiarpur. Shopkeeper gave him discount of 4% per kg. What amount did he pay to the shopkeeper

eng hin  after the discount?

T FT ZIFATYE & 45 FhFaT SR @EEAT 92T THRET T 39 4% i frer it g <01 @ F 918 399 g 1 e rfer &1 spra B

01. 38208 02. 8104
03. %8340 04. %8550
05. %8410
Solution for Question 74 Ans Key: 1
eng hin  Required amount after the discount will be
96
= 190 X x 45
100
= 8208
E AT AT LA ZRAT
: 96 -
= 190 X —x 45
100
= 8208
Q-75 What is the respective ratio between the cost of 5 kg of apples from Ropar and the cost of 2 kg of grapes from Chandigarh?
e & 5 AT 8 oY =9ETE | 2 R SR T AR o AT SE AT o #4782
01. 3:2 02. 2:3
03. 4:9 04. 10:9
05. 5:9
Solution for Question 75 Ans Key: 4

Respected ratio of 5 kg of apples from Ropar and the cost of 2 kg of grapes from Chandigarh.

= (40%5) 1 (90x2) =10 : 9

T & 5 TohetT Ha T HHATA ST T A0Te 7 2 e o it )

= (40%5) : (90x2)=10:9

Passage for Question 76, 77, 78, 79, 80 (ST-296 RRB CLERK MAINS M (36-40) 2020)

eng hin Passage

E A
18.5% | 20%

Percent of female employees
100 -

40 4 45

Read the following pie-chart carefully and answer the questions given below.
Percentage distribution of total number of IT employees in 6 different companies
Total number of IT employees in company B = 940
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Q-76 Total number of employees in company D is approximately what percent of the total number of employees in company C ?
FFIAT D H FHATAT il el AT FFIAT C H FHATAT 0T Fol HLAT FHT A Fohae Traerd g 2

01. 45 02. 40
03. 48 04. 54
05. 60
Solution for Question 76 Ans Key: 1
e 320 i
Percentage =_r—1><100 =45 (approx.)
320
TTA9Td = ——x 100 = 45 (SFTHT)
s
Q-77 What is the total number of male employees in all the companies together ?
eng hin T FFATAAT § FAeree Q& FH=1AT 1 FeT HAT F+4TE 2
01. 2204 02. 2212
03. 2014 04. 2108
05. 2000
Solution for Question 77 Ans Key: 1

eng hin  Total number = 2204
T TEAT = 2204

Q-78 What is the average number of employees in company B,C,D,E and F ?
enghin ¥ B, C, D, E 3% F # FH=11 i1 i &1 778 2

01. 610 02. 640
03. 630 04. 620



05. 600
Solution for Question 78 Ans Key: 2

eR=tin Average number = L =640

o %y
e HEAT = gzmo

Q-79 The number of female employees in company B is approximately what percent more than the number of female employees in company C ?

enghin  FFA1 B WIZT FH=ATHAT T AT F8qAT C § A w=mieat i Hgean § snra e gfqerd sfes 2 2

01. 19 02. 23
03. 26 04. 30
05. 15
Solution for Question 79 Ans Key: 1

gL Percentage increase = i %100 =19%
356

e gt = %xlDO:lg%

Q-80 What is the respective ratio between the number of female employees in company A and that of male employees in company D ?
o R [ o . o Y [ N . - Q.
FEOAT A H ATGAT FHATAT 1 HAT TAT FFIAT D H [T FHATIAT 1 GEAT & S HHA: AT FATE 2

01. 36:13 02. 37:16
03. 38:17 04. 2:1
05. 13:8
Solution for Question 80 Ans Key: 2

Ratio =296 : 128 =37: 16

AT =296 : 128 =37 : 16



